[ number of missing inner layers |

<hits>vs n

= Entries 37942
E Mean 0.09441
F Std Dev 0.3591
1 I DO T SUOR S - |
107 Entries 35133
E Mean 0.1051
N Std Dev 0.4055
2 bt tei..fi..oi.l..
10 3 Entries 35133
F Mean 0.1051
a[ Std Dev 0.4055
10 E "0 F B LA b
107 ;
-5 P
10°F
10—6_....!....!....I....I....I.
1.5p-- b
C —+ :
| T R I ST PR T PR TS LT LE LT
0 1 2 3 4 5 6 7

[ number of missing outer layers |

1072

1073

10

1 Entries 37942

Mean 0.4612

Std Dev 1.224

| N ST - |

10H Entries 35133

F Mean 0.5522

N Std Dev 1.265

E Entries 35133

F Mean 0.5522

r Std Dev 1.265

NIRRT R

1.4F
1.2F
1=
=
0.8%
0

m—— DQM_mkFit_TT_baseR_noSel_ok
=== DQM_mkFit_TT_base_8iter_noSel_ok
— DQM_mKkFit_TT_Retrainv2_8iter_noSel_ok

30

o ;.\.C_
T r +5 : : : :
24 L gt : ; :
1*-{--;-:“-«----: ------- + ;--:—--+-----
M TR A N ST
U L T RLATRL L
Ll i
track n
[ N of simulated tracks vs pT |
Entries 143225
O T o
- Emne‘s 143225|
10_2 E_ ----------------------------- ’\S/ltzalglev 2191751
E Emriels l43225|
L A i Sabev o
10—42— ------------------------------------------------
10_55— """"" Prenneeeeenes B -l_ """
- P e 111
o ‘llllllulllllllllllll!” :
;:I-TTTTTTTTTETTT'['['[”||E||||‘ :
o 1 1:0 1(:)2 10°
TP p

Ratio

10°

10?

=7 Entries 37942
o3 Mean 17.6
i1 std Dev 5.263

Al Entries

to

T
10 15

10

Rat

20 25 30 35 40
track hits

Entries 54311
Mean 0.8027
Std Dev 4.035
: 1
Entries 48482
Mean 0.8277
Std Dev 1.339
: 1
Entries 48482
Mean 0.8277
1073 i gt e Std Dev 1.339
-4 -
107k
-5
107
— ] ]
10‘-'§’: PEPEPPPYY I M |}
120 g1k

1071 1

3
track plTO



	Contents
	Page 1


